Convert to/from a number

e missing numbers in the following expressions
Example;a) 53,98 = thousand + _ hundreds +___ tens+___ ones
o solve this, let’s draw a place value chart and place a digit under its corresponding place value
Th H T
g 3 C
o, 53,98 = 5 thousands + 2 hundreds + 2 tens + 8 ones
by 199,278 = ten thousand + housands + hundreds + tens + nes.
c) 9 tenthousands + 6 thousands + 4 hundreds + 7 tens + 9 ones =
d) 999 = hundreds + tens + | ones,
e) 178,948 = undred-thousands + ten thousands + thousands +
hundreds + = tens+_ | ones.|
f) 459,663 = hundred-thousands + ten thousands + thousands + |
hundreds + [ens + ones.
g) 5 hundreds + 4 tens + 3 ones =
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Convert to/from a number

il in the missing numbers in the following expressions.
Example :a) 5398 = thousand + hundreds + tens + ones
To solve this, let’s draw alplace value chart and place a digit under its corresponding place valu
Th H T
[S Z (& |
So,! 53,98 = 5 thousands + 2 hundreds/ + 9 tens + 8 ones
b) 99,278 = 9 ten thousands + 9 thousands + 2 hundreds + 7 tens + 8 ones.
c) 9 tenthousands + 6 thousands + 4 hundreds + 7 tens + 9 ones = 96,479
d) 999 = 9 hundreds + 9 tens + 9 ones.
e) 178,948 =1 hundred-thousands + 7 ten thousands + 8 thousands + 9
hundreds + 4 tens + 8 ones.
f) 459, 663 = 4 hundred-thousands +'5 ten thousands + 9 thousands + 6
hundreds + 6 tens + 3 ones.
"g) 5 hundreds + 4 tens + 3ones = 543
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